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The saying "Saat vaar, nau tyohar’ (Seven days.
nine festivals) is associated with which state of
India?

Choose the most appropriate answer from the
options given below:

(A) Odisha (B) Gujarat

(C) Rajasthan (D) Bihar

(E)  Question not attempted

T AT A R TR FE TR ¥ fowr T A

ﬁm%rﬁaaﬁmﬁﬁmﬁaswgmwai
(A) 3fem (B) T
AE) TIEE (D) faew

(E) Fqaawd

In Rajasthan, inserting a gold nai! in the middle
of teeth by women is called:

Choose the most appropriate answer from the |

options given below:
(A) Baarn (B) Borla
(C) Daamana (D)  Choonp

(E) Question not attempted

Terearr o wfearsil 7w gt % fi 191 R A
Freferfan fret 3 & warifire Jugw awC g
Ay aft (B) HREm

(C) Dy {9

(E) Iquf@yg

In Rajasthan goddess Sanjhi is an incarnation of;
Choose the most appropﬂare answer fmm the
options given below:

(A) Seeta (B) Parvati
(C) Laxmi (D) Usha
(E) Question not attempted
Le o | éah gt foFa 1 st e 87
Pt fredt & @ watfs ag I9TW T T
(A) - By
(€ et (D) Sm
(E) ufaws
KLM| ¢ |

4 According to the 2011 census, which district had
the highest sex ratio in Rajasthan state?
Choose the maost appropriate answer from the
options given below:
(A) Jaipur
(B) Dungarpur
(C) Jaisalmer
(D) Dholpur
— (E)  Question not attempted
av) 2011 H SR % SR TFAH T § Faq
ufﬁmmmww
O Frorfefan freet § & waffires 377w 0 H:

Cw B

=i (C) ﬁﬂ'ﬂﬁt
0o dog
s (E)  AR@WH

[
5. Which of the following districts had the highest
literacy rate in Rajasthan according to 2011 cen-

prm———— SUS?

AL

Choose the most appropriate answer from the
: options given below:
st (A) Tonk
™ B Churu
(C) Kota
(D) Dausa
(E) Question not attempted
9011 Y SETIAT 3 STRR Pt § § T
3 forr Fovey oY TTaCerT & ey vt
P Pt 3 & wrertfires gugw I
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6 } On Cumhining e classes of students huving
k_// average marks 28 and 40 respectively, the overg))

&)

L%

8

()

)

average obtained is‘,”f:(il marks. Whatis the number
of' students in the l‘u-m class il'the sccond clags hyg
35 students?

FU: 28 aﬂtqoéﬂwaﬁaﬁm?ﬁ@lmmaﬁ
1 o A i e i 31 30 ) afy

T TR 35 o ¥, Y weeht B d ot £ e
ey — )

(A)
(7

150 (B 130
175 < (D) 70
Question no’i“aucmplcd / 7T wy

Y1

1 cll {ILIH%EII.

A sold a piece of Tand to B at a gain of 20% and
BsoldtoCata gaméf 10% .1 Cpaid %2 164,000
for it, at what pricg would A have purchased it? |
A%wﬁr%@ﬂmzﬁgzﬂ%mmaﬁhzﬂtﬁ
El 10%$mmwcaﬁéarwﬁcﬁ%mw
F T2 2,64,000 aam?’fx%a%ﬁmﬁm

a7 ™ I:
(A) % 1,70,000 f:” (B) 22,50,000 P
(C) T2,20,000 (ny (DF ¥ 2,00,000

(E)  Question not'dttempted / STTANG Ty

e

The gland that secretes insulin is
prolonged low s%rt:tion of insulin leads to

{n

Choose the most jappropriate answer from th

.]{E_

Lil Ul

11

(44

| .

options given belowd
(A) Pituitary, Diabetes
(B) Pancreas, Diabetes

(C) Thyroid, Go’faé

(D) Pancreas, out

(E)  Question not attempted vl
e o e g A
SHF(T-I eman A g a__ & 5
fFrefafas faaea|d @ T waffire 3ag® 3L
fagzett (‘ﬁ’{f'i HYHE

ST, AYHE
muszﬂmrﬂﬁm)
mmrr[agor%ﬂr)
a’@f{auﬂ :

(B)
©)
(D)
(E)

KLM | @

Lil

G

9

~K1DS does not spread through:e "
Choose the most appropriate answer from the
options given below:

(A) Infected mother to foetus ¥

(B)  Handshake with the patient Iy

(C)  Transfusion of contaminated blood

(D)  Usc of infected syringe 8 :

(E)  Question not attempted £

AIDS (WH) _ FHgmr ¢t e 2 bt 21

Fretfefian foraredi 44 7 Fraffba? ; JUGH - HjﬂT IH:

(A)  HoHHa LR o

B wft =1fer & 7rg fﬂc——m

(C) W Teh &1 AMH “§

(D) Hhia gs = sm‘_r_L i

(E) Smfe g

Match List-I with List-IL. o
List-I L:st-l!
(Type of (Source of waste)
waste) :j_;

a. Pen Drive L Hospital waste
Used syringe II.  E-waste_
Not easily L Kitcheni\}.;raste
degradable . P~
waste L |

d. Vegelablc IV. Piastic m‘élenais

- AN

@-Im‘t :Eﬁ xlﬁgﬁfaﬁﬁﬁm &jj
eft-1 Tet-11 (3rafire
(erafirg =t WE‘“’&;‘\
‘SI?E!T) )

a. N

b. maﬁvﬁ\u\ §- m&m

c. 31Tm=f! ﬁ L. raﬁatt_aq e
Hqufea s i
BN e swfing &

d. et d e v\ cnfes @ gt

Choose the most appropriate answer trom the
 oplions given below:

ﬂﬁﬁqnqﬁmﬁﬁﬁwﬁmmmgﬁl

(A) a-IV,b-llLe-1Ld-1 [~

\_,Unf' a-lb-Le-1V, d-1l L
(C) a-Lb-le-U,d-1v N
(D) a-Lb-V,e-lLd-11 ¥
() Question not attempted / ;

itd...
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11 Palash forest is Not found in which of the | 14
following regions of Rﬂjas‘lhan?

Choose the most appropriate answer from the
options given below:

(A)  Ajmer (B) Udaipur
(C) Jaisalmer (D) Alwar
(E)  Question not attempted
ﬁqﬁaﬁaﬁﬁmmm%%ﬂ%ﬂﬁ I
ﬁwﬁmﬁwﬁﬁﬂmﬁi}mmm‘ﬁ:
(A) 3 B) veg

O Imein (D) et
(E)  ufauy

12

In the normal human eye, light is focyseq on;

Choose the most appropriate answer from th,

options given below:

(A) Retina

(B) Iris

(C) Lens

(D) Pupil

(E) Questjon not attempted

AT HIAE 3 F W i A .
Preafefrn frasedt o & rertfires s v o

= X
of present Rajasthan, irt-: 4 rfree

as the first group to bewd, (B)  smfm/afrafem

formed? e F'-[} © ' s

Choose the most Aappropriate answer from thé:' s

options given below: ™ (D)  goeh

(A)  Rajasthan Unjon = ® St w

! E

(B)  United Rajasthan N

(C)  Matsya Union ™

(D)  Greater Rajasthan Cﬁs Sclect the option among the following against

(E)  Question not attempted m which re i

. gular reflect i :
5 S ll ‘T@j‘mﬁ, o tion will take place:

ST 999 TR Pqr e — % ' most appropriate answer from ihe

Frefafes et 4 HatfE sugmamcgt [ options given below:

(A)_ T gfir (E) gﬂh“ﬂ?‘?_ﬁ N (A) Piece of paper

95 Y s
j = (D) IueEm T5  ®  Polisheq spy
(E) %gﬂ ' coth wooden table
4 (C) ‘Cardboard surface

13 Who was the first Rajasthani to be awarded lhe:j (D) Chalk Powder

Paramveer Chakra?
Choose the most appropriate answer from
options given below:
(A) Shaitan Singh (B) Piru Singh
(C) Surendra Singh (D) Ved Prakash
(E)  Question not attempted
Il g5 & g 8 AT TYn e A
49
Freterfian foredt i & wratfires sugw s g
(A) wmfdr _) dwfiw
©) g=xfir (D) ] TF
(E) iawz
KM & ) - .

G

(E)  Question ot attempred

ﬁqﬁﬁaﬁ%mﬁmﬁ Rt frafiy
T Ber & SR A B

" | Contd...
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v
&
i
13

17

16 Which of the following is an incorrect stalemeny
with reference 1o light?
Choose the most appropriate answer from the
options given below:

(A)  Two mirrors inclined to cach other give
single image.
\(B) Splitting of light is known as diﬁlmrsiqn_

{C)  Incident ray, reflected ray and the normal
/ drawn at the point of incidence 10 the
reflecting surface, lie in the same plane,
Regular reflection takes place fro
and smooth surface.

(E)  Question not attempted

ﬁqfé%ﬁmﬁfi%a%mmm%m i
) @

ﬁﬁ%ﬁmﬁm@‘iﬁ%mﬁmmmiﬁ:

o TR S S 2 i 1 e
T 8 .

(B) Wmﬁﬁﬁ\ﬁﬁﬁmmﬁmg“,"k“

(0 W@WWWWW

| %mﬁzw@mwaﬁﬁﬁﬁ,
NBSRLSIE L O

(D) ﬁaﬁamsﬁtﬁmﬂ&
TRl

ot wy

(D) m shiny

(E)

AS lﬂ/J

_ A Person used 1o save 1gu, of his incofné Aller
\wo years his income increased by 20% but he
could save the SaMe amount as before. By how

much percentage hag pig expenditure increased?
U Sl 3T 3y g 0% 57 e 21 2 o g
SN 3T 20% i 118 ey v 7t ey o
Uﬁlwm%ﬁlmm@éﬁmmﬁ
wmm

(A) 24’%’% (B) 25._2..%

9
1
— © B3% g nly
5 (E)  Question not attempted / HTAH w4

QN

' In a box there are three rows of toffees. The first

)

== row has 60% more toffees than the second row

ae!

. and third row ﬁas 40% less toffees than the second

] )
':U row. If the total number of toffees in the box are

With reference to laws of reflection which of the
following is the correct statement?

Choose the most appropriate answer from the
options given below:

(A) Angle of incidence is always lesser than
the angle of reflection.

(B) Angle of incidence is always equal to the
angle of reflection.

(C) Angle of incidence is always zero. .

(D) Angle of incidence is always greater than
the angle of reflection.

(E)  Question not attempted

wA @ Sy
Frefef e & e ey
(n) s s aky WA SMATE g,

BT ST FV §EE GEdd &

4]
O i gz
(E) wrfafaws.

L

Tada % P & wa  Fretaed & 8 T

| 96, then the number of toffees in third row are:

TR <6 W e €1 el FAR S ew g
O i 3 2 TR o

=="F1

- Gﬁ%mﬂiﬁﬁiaﬂtmimnﬁ@ﬂ%cm%
WA 3 R 2t o e e 96 2, 3 e
: mﬁmﬁtaﬁtmﬁ-

= (A) 16

- (C) 15

B) 12

JPY 18

I: :] (E)  Question not attempted / aﬂﬂﬁﬁm{

@ The percentage difterence between a% of b and
b% of n, is:

b & 0% ST BT b T A wiagre & -

(A (D)% T 0%

(©) (-g-)% (D)

(1 Question not attompted / SITARE W4

1%

‘-" I f‘nnfr‘
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Q 40 litres of a mixture of milk and water contains | 25  Bisalpur Dam has been constructed on which of

25% of water. 10 litres.of water is added in the the following rivers SgiRajasthan?
mixture."The percentage of milk in the final Choose the most appropriate answer from the
£~ .
miNture is: 4 options given belowf™
auaﬂ‘(qrfﬁ%fi()f'\ﬂaw* i ﬁﬁ%lﬂ?ﬁ?lﬁ{m (A) Luniriver ’(l!} Saraswali river
ﬁ‘lo%thm:*ﬂ? %‘rﬁmgﬂﬁim C) Chumbal riv F (D) Banas river
ﬁmmﬂ%ﬂ'ﬁ% ( (C) wmbal rive X i ¢
B tl mptec
(A) 70% @ 65% (E)  Question not g
vx(u/ 60% (D) 5% - fefafaada nsm:@ﬁ fa 1 ar fmmr AT
() Question not attempted / Srqaftr a1 1 Frafor o e 2
% S Frefoftaa famet o it wratfirs Joge 37 4.

22 © Theaverage age of a ht{sband wife and their only
child is 22 years. Five years ago the average age

(A)  ehad I».[B) mvz?ﬁ:?‘r

of husband and wife Wa$ 26 years. The present | o ©) == (D A
ageofthechildis: = (B) aﬂﬁﬂﬁ g
(A) 4 ycars (B) 3 years G-.J C\{
(C©)  2years (D) 5 years M} Where is Pichola Ia&c’g f Rajasthan situated?
(E) Question not anéﬁ?pted ' l‘:ld (A) Bhilwara (B) Udai
O( ) aipur
jﬁgﬁmﬁmwzzﬁmﬁaﬁ E (C) Banswara (D)  Ajmer
e 3@_ a oft &= oy o m (E) Question not &Flgempled
M/H‘i m Sk ey e Y e i ot R
© 299 538 [:U (A) e [\W
(E) 3ref@ws (\i E—q (€) srwaTs N(D) s
a (B) smimus ¢y
@ If the cost price of an ar:_{;!c is 80% of the selling ple ) ™
- price, then the profit percent is: T3 g { ‘ f
In camel’s milk Whﬁ f the followi itami
% foe g w1 o hmmmsw 27 of the following vitamins
% ?ﬁ?im srﬁm?r % “ﬁm i '\f is found in lowest a;aounw
(A) 22% W 259 3 Choose the most dppropriate answer from the !
(C) 30% ) 20% *_, Options given bclov?.‘r_{ :
(E)  Question not anE:Fr‘plcd / e g :3 (A) Vitamin B, '
o = (®) ViaminBg
24 Meja Dam is located imrwhich of the following]| -
: N (C) Vitamin B, ¢~
places of Rajasthan? (2

(D) VitaminB, O

Choose the most appropriate answer from the ;
pprop | (E)  Question not attempted

options given below;

(A) Kota s(B) Bhilwara ﬁ“ﬁ"ﬁﬂﬁﬁﬁﬁaﬁwﬁmf&aﬁqﬁ
(C) Udaipur  [(D) Tonk - AT R R %
(E)  Question not atfempted ﬁqﬁhﬁm forerel & X warifares IYYH IW T

Prefefian # & T P e vt | () Reen, O

Pt faeedt o o @frtfarss o 0 (©) Fc‘miﬁ'-m,‘m | :
(A) =i %Jé{ viierargt o) frafmp, o |
(€) xR (D) & (B) orqafe wy

(E) orqafauy | X
KLM ] ’ . . - l C nnld---




b | ¥
I8 Animal husbandry does not include:

Choose the mosy appropriate options from the

given below:

(A)  Poultry farming

(B)  Zoo management

(C)  Fisheries

(D) Brccding of livestock
(E)

Question not attempted

T ¥ wfenferg T

Freaforfian foravedt & & wrarfforas s s
(A)  FFFUTeH )
(©) e vum erfeeadn)

(D) WW*I“_F

(E) ovgufwws

29 Which of the following statements is not correct
about camel?
Choose the most appraopriate answer from the

options given below:

(A) Vitamin C is not found in camel milk.

(B) Bactrian camel has two humps.

(C) Camel homp do not store water, they are
full of fat.

(D) Dromedary camel has only single hump.

(E) Question not attempted

S ¥ i i - e S 2
ﬁﬁqmﬁm"ﬁﬁwﬂwﬂa‘
) S i P ol s 81
Bad o |
o e gy T A AT
2id €l v
D) %&z%m@wmgl

Laxmi Niwas Mittal, born in Rajasthan is a
famous personality in the field of
Choose the most appropriate answer from the

options given below:

(A) Sports

(B) Science

(C) Industry

(D) Medicine

(E) . Question not attempted

_ et e e, fory o e o 8. F
@ a7 A v gu

St fawedt § § gaffie s0gw ITC -

Ca) @

28 fm
ey wdm,
by fafem

'C'@E) aﬁafl?r-w

1: Cﬁ]a Arun, an artist born in Rajasthan is from the

ield of :

pesed-h0OSe the most appropriate answer from the

— .

T PliONS given below:
EA) Kathak dance
:sB) Poetry '

%eedC)  Folk - Pop Music
:jD) Painting
7 PSE) Question not attempted
umﬁﬂ@_@%ﬁzﬁﬁaﬁmﬁ?
P e 3 & Feferes g
N7
(8) Wi
(C)  wh-diy &t
(D) fowen
(B) yaf wa

| Contd.,.
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Q_\ Chitrangda Singh, an artist front Rajasthan is 13} Which of the following vaccine is used for

most famous as a/an; broilers in poultry?

Choose the most apprapriate answer from the Choose the most uppmprig{le answer from the

options given bclnSJi oplions given below: -

(A) Actress [~ (A) Ranikhet Discase Vaccine (F strain)
~(B)  Musician :: ~ (B) Ranikhet Discase Va;:éjnc (RyB Vaccine

(C)  Sculptureagt,, ' (C) Ranikhet Discase ‘Vaccine (F strain

(D) Painter —— 'i

. L
(B)  Question not &ttempted (D) Marek's Discasc Vaccine

o . -..----—— w0 fiie o e o watfirs (E)  Question not aﬂcmptfds
X = T e ¥ digerd ¥ forg A, e () A
ﬁn?a&qaﬁma‘itﬁ%mffbmmgmmqi Q o ——— £
m .hh' 5 e T ik
A D) i i v fber 3
(B} TNy o (A) Terda A7 A (RRA)
tﬁm}n rl—i o
45 - S i (B nﬁéﬂﬁnmaﬁaﬁr(%ﬁ EAC )Y
'ﬂw o © v—ﬂ'éaﬁvrma‘ta:m-‘%éﬂqm)
= (D) R I H I
N ° e e 9 .
33 ) Which of the fJI'Imeg is correct about F_‘ {:
administration o Marek s disease vaccinein /—\ . :_4
poultry birds? (‘l 1——‘:'5_/ Which of the following vaq\cj_rc is given on day 1
Choose the mosr&i})pmpriafe answer from thq_: A poulty tndusuy? C:J
options given bela@} _,\1 ﬁ Cht.mse lT&c most appmpr??ée answer from the
(A) Intramuscularly in thigh muscle —j options given below: .
(B) In eyes with'ivater :-_I_‘ (A)  Fowl Pox Disease Vageine
(C) By scratchi{\é st (B)  Ranikhet Disease Vg:cme
5 = © Mk
(D) Indrinkingiwter 7 - ©) arck’s Disease \’avclne

C

(E)  Question néi_‘!mcmptcd (D)  Gumboro Disease \f&c‘cme
F g ofirt & i A A% F B 9w = (E)  Question not allcmplod

" et i & A4 o attwL &2 g e 3 -4 e ekt e e e
Frfeftaa fameat & @ waiftrs Juges 3o T Prefifta faredt o & wrarffires suge s
() s ety e @ it o S (A) TR (Tt W
(B) wma:m’l@a‘fﬁ | (B) nﬁéaﬁﬂmim‘

(C) FGER g (€) R T N
® %l 0y EmEdE
® 3‘3“&”% () ogetamA v
KLM | ‘ (2 B b [ Contd...
| | o
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Whichof the (‘o]lm\ ‘ingisnotincluded ip Pancl;pi;-
in Rajastha )

Choose the mmr apprepriate answer from the
Opnons gu cn bﬂ(}\\
(A)

ﬁghlln%the Mughals. &
- Kamadia panth was formed by Kallaw
1

d. Pabuji is worshiped as the God of ¢

Who was the fnmou,_s\!, folk singer during the

Teja j _ll 2 (B)  Ramdev ji
() Gogajlé (D) Pabu ji
(E)  Question not attempted
ﬁwﬁ?ﬁa?r AR e o e & g )
P 2 wafi oge s
A TS (B) TRa s
(€©) mmsi-_ (D) e S
(E) Sqafayy
i N i
Identify the correct statements given below: &
a. Kallaji, who displayed exceptional hraver]....:b
and courage during the invasion of Chittor™
- fort by Akbar, is popular as a four hande | j
folk deity in Mewar region. E:
b. It is bélieved that even after Kallaji w h:
behcaded his torso reached Rundela whilg_|
bt

in Rajas‘than :
Choose the ‘most appropriate answer from the™"
options given below: —'\“'5
(z]i)l b, c, q,?nly (B) a,b,donly -1
(C) a,c,donly (D) a,b,conly ay
(E) Question not attemptcd :3
ﬁrﬁr:‘t@r__/ﬁ m ﬁﬁnz .
g
53; aﬁm.mﬂw frar 3
v, s 7 < e
pewRaEiEl ooy
b Qmmm%%ﬁa@?
are oft et q agd IR T _——
5 o S BT
IR s
ﬁﬁqwﬁ@ﬁ%a, -
(A) a;aa_tf‘c,d o e, .
(C) ¥ad b, ¢, d ( !
() | ST

princcly movement of Rajputana?
Choose the most ﬂp;r%pﬂa:e answer from the
options given below: (%}

i O
(A) Rana Bai -
(B) Chand Bardai 2
(C) PK.Mishra

(D)

T
‘Ganeshi Lal Vyas

(E) Question not at;;}‘nptcd
T st S A ylE A
tm—?ﬁ_ﬂ%}fiﬁ? (y
Pt Rt & & atferes 3ugws 3w g
(A) wnad  (B) e
) . gﬁm M nﬁ:ﬁmaﬂm
(E) gafaws | T
#
Which of the follow;i_hk is most appropriately
connected with CARIy HEEK?

Choose the most ap'p'l‘r‘c)aprfate answer from the
L

options given below:

(A) Goat ;i‘

(B) Sheep i~

(&) | Poultry g:

(D) Camel N

(E)  Question not n@npte‘d
frefafan & & @@ 0 - fnffs (cari -
NiRBHEEK)ﬁaﬂgym&wgmb
.ﬁqﬁ‘iﬁ-mﬁmﬁ&mfﬁwmmgi
(A) a&wl : 4 |

B) w§ oy

(€) FFE Si:

(D) ¥ -

()  arqafta wx

| Contd...
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G__{D Which of the following is an important grass used

41

KiM) ¢

as animal fodder in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)  Sares (Albizzia lebbeck)
(B)  Peelu (Salvadora sp.)
(©)  AraduMaharukh (IA ilanthus excelsa)

(D)
(E)  Question not attempted
Frefafae % & oo § oy Wi forg A <t
RRCRICERUE S icify
ﬁn%figaﬁm&%aaﬁa;wammgi
(A) TR® e deaw)

e e =)
©) W{Qﬁ%m)
(D) T (&ﬁmz’ﬁ@)
(E) aﬂgﬂﬁzxm

Moorat (Penicum turgidum)

Which of the following animals are\commonlyE
reared by pastoralists in arid region? -

Choose the most appropriate answer from the
options given below:

(A)
(B)
(€)
(D)
(E) Question not attempted
mmwéﬁiﬁmﬁﬁmm%
mﬁmﬁmmb
ﬁn%f@aﬁweﬁﬁémﬂbswgmmﬁi
A) TR

®) e st roferat 4o

©) My iy

D) maeht i g

) sqefayy

Pigs and Dogs
Ducks and Fish
Cow and ant

Cattle and Sheep . {

UUrukul sl arana

N

&,

10

@ The term pastoralism refers to:

Choose the most appropriate answer from the
options given below:

(A) Rearing and herding of animals
(B)
(©)
D)
(E)
Aeitferen w2 @1 374 2

Hunting and gathering of food
Farming and cultivation of crops
_Trade and Commerce

Question not attempted

i—l Prerfafas frredt § & aaffire soges 3o T

J

(A) S =T grE-Fror S T
i we A ea TEE F e
wiff @) 3k woe 3T
TR 3R Fifirey

s

©
D)
(E)

Which of the following soils is found in
Ganganagar, Hanumangarh, Alwar, Bharatpur,
Jaipur and Tonk regions of Rajasthan state?

Choose the most appropriate answer from tile

options given below:

(A) Saline soil (B)  Alluvial soil
(C) Black soil (D) Latenite soil
(E) Question not attempted

UM T & e, TG, ST, WA,
Wmﬁmﬁﬂﬁﬁﬁﬁmﬁﬁmﬁwﬂ !
et &7

freferfia farered) ¥ A wartflres guges s g
A) Hﬂ““ﬂ" () ST

© $r6ﬂ‘i'<' Jﬁf WW

() aﬁ'ﬂm{ﬂﬂ
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44 Which one of the following statements is not | 46 In some cases, pastoralists supplement their
correct about black i?‘“ in Rajasthan? igr“mc t:f selling . ;
"~ ) 1wose the mogt /. answer from e
Choose the most gppropriare answer from the M hq.g::l:ﬁrnpr ale answcr
options given b"‘lm;?‘_i. (A)  Mineral rpsources
(A) It contains c:;m;gh quantity of nitrogen. (B)  HandicraR4nd textjle
i 4 " ke A
(B)  Thissoil is fotud in Kota, Bundi and Baran (C_j Gem storfey
, ol (D)  Modemn L(I(‘g[,tq
RN o (E) Quwimnﬁdt altempted
(C)  This is fertile soil for Rice, Sugarcane and g?gmnr-ﬁﬂ aﬂn? AT e A
Soyabean crﬁ'ﬁk. Wmﬂwﬁl
(M Iisa (“htekaﬂommated 501, ) : ﬁ“"”f’%m?“" _F"
(E)  Question noMﬁcmptcd By wEfe fﬁ(a‘ﬂ
ﬁqmaﬁaw&r@mmmﬁmqm € Wy
& wed & vt *={ (D) W&ﬁ?m(m;y
s ﬁ |0 ® swg'ﬂfcam;
foredi ¥ walfds sugw s T | jm, D
\_/{Aﬁ_/ Td waty 5 & Fregis Jufiya dar R t’(d “Project Tiger” campzign was launched in:
(B) ?ngz‘faﬁa,iﬂaﬁ(m{i &7 o g et B g Choose the most appropriate answer from the
R . e options given beidw: )
(€ wm@@mmm CG Ay e ':?fﬁmm a1 i
IYIS: Bl By Yt EET I
(D) T% S gy gET &1 1 ﬁqﬁ%ﬁaﬁé}iémﬁzgmwgw
fr N _q,(‘ﬁi 1973 (B)
(E) = 4 3 (C) 1983 . 'w! (D) 1971
- lod  (E)  Question pot attempted / :ﬁﬁﬁﬂwx
45 Where is the head office of Central Arid Zone : _
; 3 8 . Which of the following conservation strategies
‘ ? od = -
Research Institute (%}ZRE) in Rajasthan E do not directly iqs;udc community participation?
(A) Jodhpur 3 Choose the mogt-appropriate answer from the
(B) Jaipur r~ eed options given below:
v ™ (A) Beg bachad andolan
(C)  Dausa . O - (B)  Chipko niovement
(D) Ajmer Q% ! J (C) Demarcatidh of wildlife sanctuaries
(E) Question notYaftempted (D) Joim I‘nrc;}“unnagc:m::t
b L
> CAZRI) &I (E) Question o atemp
rmm , Fem (= faferftaa § & ﬂm%m&m@m
g@mmnﬁmmﬁwa%? s 8- LY
A < frefafta A § wartfirs Jugw v
‘/‘Ar S‘ . . 2
= (A) o am\m
® ey fed
(C) @mr v () unma'-l ;u\;uuwwm-r
5 &
o = 8 sy
(F) #Ef@aq v )
< " [ Conta..,
KiIM| @
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9 In which region of Rajasthan has the Amrita Devi

Krishna Mriga Sanctuary been developed?
Choose the mosr appropriate
options given below:

(A) Pali (") Jodhpur
(C) Ko (DY Bikaner
(E)  Question not attempted

R TSI ¥ fw ay § At
T IR W Ry Wﬁ»m A
ﬁqﬁ%ﬁﬁmff&mﬁmmmﬂ*
(A)  areht ~— B S

() (D) st
(E)

answer {rom the

e
A

Which of the followin

g forests is lound only in
Mount Aby region of

Rajasthan?

Choose the mosr @ppropriate answer from the
options given below:

(A} Salar

(B)  Sub-tropical Mountain _
(C) Tropical Thom
(D) Palash

(E)  Question not attempted

Eick-v
ﬁ%&mn%mmmaﬁ
(A) wEm__
BT U iy gty

(©)  IwrHfesdta widem \

(D) <&

(E)

A w4

Rajasthan receives most of its rainfall from
monsoon.

Choose the most appropriate answer from 1! e

options given below: .

(A) South West (B) North Wesi

(C) North East (D)  South Enst

(E) Question not attempied

uoeyr # gaffuswant

Bt &) '

ffafes faaedl § @ Faffas soges g

(A) =woafem () Fwafem>»

(C) gl S oot

(E) uq

WA & T

i
e

KLM |

ﬁ%m&m%ﬁammqﬁaﬁm?

62)

Agar

URU 1@1 dlc

rary

12

Which of the following is not correct about camel
pox?

Choose the maost appropriate answer from the
options given below:

(A)  "There are high chances of the discase in 6
months to two years of age group.

(B)  This mainly occurs in summer and rainy
season,

(C)  Duration of the discase is 2-4 weeks.

(D) This is a bacterial disease.

(E)

Question not attempted

ST ST 36 A e e =
ﬁmﬁaﬁqﬂﬁmﬁémwm?:

(A)  67TE R 2 3 % a1 T i 3 77 % Ay A
e gramEar et )

(B) ﬂtaﬁﬂﬂtmﬁmmaﬁrmqﬁmm

©) TEATH Efr 24 gEER Y

(D)  T= Sframy sfim a3

(B) agafawx

Which of the following is responsible for Tibarsa-
Sarra disease in camels?

Choose the most appropriate answer from the
options given below:

(A) Bacteria

(B)  Protozoa

(C)  Nutritional -.h:ﬁciency
(D) Virus |

(E)

Question nm attempted

:zﬁmmﬁﬂw&mﬁn%mnm

ﬁnmﬁmnmmmm
(A)  Sftam

M DAy

() Ao s mm
(" Fatﬂ“l

()

3& L

ngﬂ\a us
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L S84 According to month wise annual calendar for | s

; Who am
camel management and prevention of discase ong the following first used the term

. L4 - R

proposed by National Research Center for Camel, Wasthani in 1912 iy e linguistic survey of
the best period for hair cutting is during . India for the |anguugc UrRﬂtﬂ“hﬂﬂ

( hoose the S Pooks M Ch

. ) most apprapriate answer from the oose the most appropriate answer from the

options given below: options given below:

(A)  March and April j

(A} George Abrah 1t
; am Grierson
(1) July and '
) y and Augus! (B)  George Helenski

(€')  September and October
(1)) January and February
(1) Question not attempted

(C)  George Fernandis
(D)  George Thomas

ﬁ*@aw%mmﬁahmm (E) Question not attempted
1 R e am i Setet % span aw ﬁﬁ%&ﬁﬁﬁmmmvnmﬁnm
W?TRWQ:{HN- FAmy L LR R E 1 R e —— nawmwm
Fretetan e 4 4 waffam sagw smogh: (Y wimfoman -
~Ay TS AN O] T T e M——
B — O o i s S
(C) mm&@ ; —t
(D) T8 T EEd (B) v
() WA Rd ; (©) i |
. (D) TS uTHy
| s Which of the following statements is not corfect |~ (E)  Siafa ¥

about camel milk? v
Choose the most appropriate answer fromdhe 53 which of the following species contains the

== )
e d QW | —f lowest amount (%) of lactose in their milk?

f Insuh
(A) There is a very high amount 0 % Choose the most appropriate answer trom the

(about 40 micro unit/ml) in camel milk

(B) Camel milk contains lactose about 3.8 1o options given below:
| - (A) Goat
(C) p!{ ofcamei milk ranges 7.8 to 8.3. '—_.I (B) Camel
 be useful(in (C)  Water Buflalo

(1)) Fermented camel milk ca
Jowering blood cholesterol. (D) Cow

(k) Question not atlemp ted . (E)  Question not attempted
‘W“‘?’Wﬁﬂﬁmw it f s 2 e L
J' . i o N"ﬁ“‘m‘ﬁl (ufreraraT) Bt &2

(A) '!h'a F 2d #ﬁsgﬁﬂ £ aga AUE @ fopferfara ﬁﬂmﬁﬁﬂmfﬁw‘ IUGH I -

40%@%@%%3' Ny (A) wd
() éazaaqgﬁwaaﬁu%ml ,,,,,, n g ’
3 R
() ﬁﬁWWpI!W'?ﬂﬂH_,,ﬁawm 4 ;awn.! -
(n) QWW@W "’“é"i'“ () "
# zqarl & e 81 () oaRa
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M Who was the first woman from Rajasthan to be | 61 Which of the following physical regions of
urrl ssted during the Indian freedom movement? Rajosthan shares its tyvn‘md;lr)' with Pakistan”?
(._ht'f"\t‘ the most appropriate answer from the o ™ s o :
aptions given below: oose the maost a;g:mpr ate answer from the
(A)  Nagendra Baln options given bc"“"{m;

(BY Anjana Devi Chaudhary (A)  Eastern Plain Region
Y L 1 Devi
il g c‘.' (B)  Western Arid E{ggmn
(17 Rama Devi Pandcy
(15)  Question not attempted (€)  Aravali R‘-‘L-"’" y
" Al TaeTa st ¥ e g 7 ared! (D) South Enst Plateau Region
g3l
g3 ) gan afeen P ofic >
" — (E) tiort not {' ted
ﬁwﬁ-‘;ﬁ‘m HY ‘a‘a'{‘T-? Question no :\u mp L;ﬁh mmm =
(A) TIZIR g ster 2t S Frefafaa & & e 1 B9
(©) = (D) TR m%mm%m
(‘I‘:).- srafa wa 2 ﬁmmaﬁmﬂ#mmmW?
59 Which of the following districts had the highest I:_ (A) ‘fﬁm &:ﬁ ?._-1,
population growth rate in Rajasthan durmg the of - -
— afendfy 7778 w7
decade 2001-20119 o)+ AN
(,hoosc the most appmprmrr answer from the I:'l,d (€) m éh
oplmm given below: ;!: (D) =faor ﬂw’f§2
(A) Barmer (B) Ganganagar = () Cﬂﬁ’dﬁ'ﬂ'ﬁ% [
(Cy Kota (D)  Sirohi I\J =i
(B)  Question not attempted : . f N ) -~
' 5 » of the fol ' states does not share
2001:201 1 ?i_ F Erforfm 8 @ 0 £2 Which one of the oggrln.b cs (
e e fr sEee qu;;(ga-a rfir o) P—q its state boundary with Rajasthan?
Prfafas faeedl & & waifass I9g IT T Choose the most agpropriate answer from the
~AA) T (B) petes  Options given below:
¥y SIgatawd Jeet  (A) Maharashtra ay
—_— ) _ 1"  (B) Gujarat I
(60 _ Thé animals which give birth to young ones dT-l_' s i {_‘!“‘
= Keir own kind are called: 15 (O Madhya Pradesh,
Choose the most appropriate answer from the 1-_1 (D) Haryana 0N
ophons given below: :j (E)  Question not a‘!fﬂinmplcd
(A} Oviparous _ r frefarfas § @ #REL T T TIEIH F ww
(B) Invitro fcml:zed animals_
(C) Ovoviviparaous ﬂu g | "TE& &
% Viviparous ﬁnﬁrﬁaﬂﬁmﬁiiﬁﬁhwmgﬁ
(1-:) Question not attempted \)/\'Y/
3.y o oreft I wafedt @ w3 8, 4 —
e & (B) TEUd. i
%. fareret @ warffares 3uge o ©) TARAS
(A) 3fETaE (B) ar frdfea sig D) X
(©) wEwgs (D) wfayem . .
(E) orpaf@sd (B) SgRRANA Contd
td...
KIM | ’ : 14 | Con

13
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\
o~

Which ol the following Nationul Highway i.-a_ §
major highway passing through Rajasthan, whicl,
goes from Delhi 1o Mumbai via Jnipur, Ajier
and Udaipur?

Choose the most appropriate answer [rom (e
options given below:

National Highway no-9

(A)
(B) National Highway no-24

(C) National Highway no-3

(D)  National Highway no-48

(E)  Question not attempted

Fresferfian ¥ @ F¥5-61 Wt o e 2
TR IARA TR GO sy
frferfian et 3§ 4 wratfis yugwsmgh:
(A) U Temnt @9 q
(B) mmﬁm-;‘z . g
(C) T T w3 4
(D) T T S48 .
(E) a4 ) %

_
Rajasthan Road Vision 2025 was jrepared bys

which of the following bodies?
Choose the most appropriate answer from

options given below:

(A) Planning Commission

(B) Public Works Department Rajasthan.
(C) National Highways Authority of India
(D) NITI Aayog '

(E)  Question not attempted

2025 & fermr ma 417 SR
et faredt & @ waffis 3957

(A)  rsET ATEM

(B) mﬁﬁw@mw‘f"’
(C) WM“E’?‘“‘"W
(D) fer ST

(F) m’i’ﬂﬁ,’ag‘ﬁ

KLMm | ’

€

Gurgla

ﬁq%ﬁaaﬁawﬂ“m”@

68

C
Jo
g

1Al {Illﬂbﬁlk

11

g

The  Capital  of Mutsys  Mabajunapada win

Choose the maont appropriate answer from the
aplions given below;

(A)  Taxiln (13)  Kaushamnbi
(') Videhn (D) Virat Nagar
(K)  Question not attespred

A HETAA Y T oy,
favferfraa fmet & 4t wratfiras g 70 74

(A) Al (py Aymmeh v
() fam (1. farz g
(1) sqafra gy

Rainfull received in winter scason in Rajasthan is
called:

Choose the most appropriate answer from the
options given below:

(A) Mavath

(3) Aamra Varsha

(C) Phoolon ki Bouchhar

(D) Manas

(E)  Question not attempted

¥fter g T F 9 et qut F Fer e 2

Frefertaa fasedt & @ watfis sogw w0 93
AAr s (B) 37w aaf

(C) gaidrden (D) w=w

(E) iquftau4

Mukundra and Bundi hills are located in which of
the following physical regions of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Western Desert Plain Region

(B)  South Eastern Plateau Region

(C) Aravali Region

(D) Eastern Plain Region

()  Question not attempted

veredT & fene sfimfers & A g=n ok gt
W&Tﬁ ﬁ:ﬂa ﬁ? . — O e e
Frefeian et o v swges e
(A)  uferh werusry e

(ayy  afetor gl vartia &y

(C) s &

() gt far &=

(F) srafa g
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68  Match List-1 with 1.iy-1.
Y
~ List-1 Lint-11
™ (Gland) (Itn Loentlon)
-_i
n. i~ Pititary 1, Kidney
b. (\' Thyroid 1L Brain
C. Adrcnnl UL Neck
d. Thymus V. Chesi
cﬁmaﬂtﬁt 11 & gftre iy
o (ﬂﬁn e ¥y
" Oy ﬁmﬂfm‘m qﬁ
b. N ares

CO@?@\U

LLE L R A wﬁ

o o - )}
01 lm;”n:;ny chumbers are there in i normal human
hcn‘L‘(_

Chopse the most appropriate answer from the

oplitngs given helow:

m;f" h ‘our (13) Three

(() Iwn () Five

(K } t)uumtm not attempted

U oI W i Frem TFY A B

el et  t raforas Tagem 70 T
kAT AT () A=

(C) rﬁ (ny af

(l-:;f-m ,w;aﬁ.a 949

urpah beings have types of teeth.

I
\J‘Jj_hﬂc the most appropriate answer from the
Y $ options given below:

= (A) Three (B) Four
™ ©=0 D) T
Ch%Se the mgsr appropriate answer from the C.—.- (€ Ej e (D) Two
O ""-J' (E)'™"Question not attempted
opt{c\s s given below: qﬁ%ﬁm%ztaﬁ?fﬁﬂ
A3 e foredt & & wraifires guge s g: m‘%mﬁﬁmﬁmmm?
‘_,_,/M?'I/a-ll. b-Il,c-1,d-1V —qwq (B) =MW
o R _
(Brcg a-ILb-M,c-1,d-1V _ (E)O' ‘e o (D) z’r},
: s— (F 3% i
(C) a-IV,b-IlILc-1,d-1 : ) —-’ﬂﬁf"ﬁﬁb’x 2
(D) a-Lb-IV,c-NLd-1I 24 Whl?:g of the following is an example of physical
il "
(Eﬁ_ Question not attempted / Gﬁﬂﬂﬁ w5 " * chahge?
™~ ; Chaode the most appropriate answer from the
69  How'many bones are there in an adult human | e opué)‘#s given below:
C wed  (A)" ' Formation of curd
bc;pg J (B)gMclling of wax
Ch?:)dsc the most appropriate answer from lhel'\ (©) ~ Browning of apple afler cutting
options given below: (D) Rusting
aq=h stftagt € der frah uestion not attempted
e - - ik %ﬁﬂﬁqm‘ﬂﬁmqﬁaﬁ:m@m
ﬁ@%ﬁaﬁaﬁﬂémmmgﬁ: FUNE
B 5t R & v 3w 37
ﬂ‘* 206 (A)r\] Fogcel
(CN 318 M A Fm'-n
EIG
(D)4 128 ©C Wﬁ*m“““‘f‘ﬁ

(E) " Question not attempted / 37af gu

(D)

(E) Wﬂ“ R

KIM| ¢
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Mutch Lig.g with List-11.

: : > of
woar 75  Ayushman Bharat a flagship scheme
List-I fl‘.lfl:t‘lc.nl) List-1] {'\I'P"Callon} Government of India is a:f .
a. Plalin}'m I Medicinal yge (A) Programme to C(;ﬂf';il Pollution
b SuIE:I;pr I Jewellery (13)  Programme of l--lear}_[; Insurance
. . g - {C} Progrmﬂl‘ﬂc OFFIO(!j\C()HlI'Ol
c. GrapHite L pene e
] " vt (D) Programme of Clinfite Control
4 . -: Woury Iv. Thr:rmomelcr (E)  Question not attcmé}z}i
-1 % e iy 1 e 5, S I, 9T TR hT U Y AT 2
T ) T e (A e e iy ),
& RRE.. g [ p— R L L
b Wl T (C) g faaom a6t g~
TR ‘ W L (D) waTy frE b
c. m AU, gfge ﬁ (E) Cﬂﬂﬂiii‘! B (4
» i
d. Wm —B) T amtie = S";
Choose léé”}most appropriate answer from the | ot At what rate of compoungz‘;nterest per annum a
options given below- — sum of ¥ 900 will b;::g;: T 1089 inﬁgcars?
- s | | e i ey s T 900 9 2 IuT i 7
Wﬁ?mr@mwaaﬁf&mmmg% €3 1089 B S
(A) a-fH‘:b-lV,c-l,d-H}c P (A) 12% -
s
(B) a-[Vjb-Ill,c-1I,d-1 )a : B) 15% g;
£
(c ,.-”a-{l,ab*!,c-lif,d-[\f © 18% o
=2l w—_— By 10% v
D) a-5B-lc-NLd-1v_ ] E)

Question not attemgtgd / e
E i ted / S7af 9o IR
(£)  Question not attemp :

«¥
B ) .

74 Which of_the following is not a property of
-~

R

Name the first mammal (anjmal) to be cloned:

Choose the mose approp¥iate answer fi

om the
¥ Options given below:
metals?

Gurukul 1a

Cd ; :r from the (A)  Dolly od

. , fe answer ir i
Choose 11}.4._%{"03: appropriate .' (B) Moesha &
options given below: _ \ (C)  Keeto r:i
(A) SR (B) Ductile (D)  Raani -

- L 3 E)  Question not attempted

; (D)  Non Lustrous ( mpte
(C) Malleable '

_ “fion not attempted T T St vt i A =
(E)  Qugstion no . CCik YA mﬁwﬁmmm@
frAtAtaad @ FA-4T W T LAY T [~ S :

e 8 i 3O S ®) s N
ol (B) |
(h) — ) OH (D)  weh v
() m M (E) srafaus -
(f) m‘ﬂ‘fﬂl A u4qa : 17 lCOntd“_
KiM | @
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78

Which animal keeps on chewing continuously | 80 Indira Gandhi Canal project is Jocated in which
even when they are not cating? of the following physical fcyjqﬁu of Rajasthan?
Choose the most appropriafe answer from the
options given below:

(AY  Araviili Region

(3)  Lnatern Plain Region

Choose the moyt apprepriate answer from the
options given below:

(A) Snake

s o —— AT
S ——— T

(B) BufMalo () Sowh Eastern Platesu Reyion
(C) Dog (D) Western Desert Plain Beyion
: (E)  Question not attempted ey
i ey iy e v e ; Grefofian # &
(E)  Question not attempted firg sfrivfer s 1 fraa Py 4
" 3 : G ##1 « .’Jr‘rr ¥ H
ﬁ:mmwﬁrmmgm“@,ﬂm Er\c;fiﬂrﬁaﬂﬁm;:innmfmm A
G WRATR aaedt A ;
frafafes : (B3) Nardt e
ﬁmﬁﬁﬁmmmﬁz £ . © off wartt it
(A) sl ﬁﬁa})r-mrm'qﬁmﬁmm
_(BY ¥ [ (B At 94
(C) : ‘1":} In which place of Rajasthan is the Chulia waterfall

l located?

Choose the most appropriate answer from the
options given below:
{A) Kota (3) Karauli
(C) Chittorgarh (D)  Alwar
"(E) Question not attempted
feran it YuTa UEa U ¥ frs A o feara 27

Choose the most appropriate answer from the | fPreffias el 1 & watfis sogm 3 T3

raralild

D) IFE)
(E) =i ws

\R\w"s»sm» I————————

!
L
N
79  Which of the following method should be adopted 1

to produce a pure line in cattle?

options given below: yompy e (B) wOA

—— ™ - fadgmg (D) 3 -,
(A} Tppendte ] (E) @ ud :
(B) Outcrossing P —ﬁ 3
(C) Cmss_‘bfe;ding bl '3 Which one of the following districts had the
(D) Outbrce’diln; | Jowest population density according to 2011

- r S census in Rajasthan?

(E)  Question not attempted -

Choose the most appropriate answer from the

mﬁﬂzwmﬁ%%mmﬁé '-'. options given below:
mmé&(mmm&» (A) Inisalmer (B) Pali
ﬁnﬁf@&ﬁaﬁ-ﬁﬁﬁmﬁ&mm (C) Tonk (D) Jalore .
5 ' mgﬁ: ()  Question not attempted
I — 2011 4 T & s Pt m"""“"“‘”'“
By LAY 3 P et o SRR 1 T R L
i o m 1
(C) dwm ﬁmﬁhﬂﬂmﬁﬂmﬁﬂw 7
- | ) &® :
(E) Hgaf@ s 5y st ;
KIM|] ¢ L [ Contd...
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[

_.R,“ The least 7y n\.lmh("‘ which when divided by 6. 7 and
Yleaves g remarnder S, 1o
““‘57"“31";:-%7:51(- “he s E afmeia
TS P, sy )

3 -

A 168

8. _im ~

L Cr 179 A
D 17y, o

(£ Question not auemmed ar-ﬁ‘f:aua

L e Th'f dVverage Ofﬁrst 5 mu{x.\ple-, of 12s:
%\_ I.‘. * m ~1 @'ﬁ%
. lg\j 50 \.\...LB{ o ‘6 89
. <) 24 tDﬁ\‘ 48 b
1 (E)  Ques N’
ion not ancmp:ed AT v L\
85

Al B and C i, the r.mo.pj ke 15 'l'lmnlht‘.'l::'l3
share of C is- t\ —
223500 F a1 A Bt cpare L Tyt w00
ﬂmn‘m{naaﬁfm"am‘ﬁmcmmim e
LA T 6000 (B)\ | X 5375 aw’
(C) %7833 (D)._. 2 4700 P-q
(E)  Question not artempted / Al wx

/...-._- —

86 The LCM of two numbers is 36, If their ratio is
2: 3, then their sum is:

il

2 11

FAIME 2 : 3 2, A I A A Fj
(A) 2452 (Bi‘“i 27 )
e 30 | (D& 18 r.'__..m
(E)  Question not attempjed / At v d
' QO
g . ;

The population of a place increased to 84,000 in
= hat will

2023 at the rate of 5% per annum. Then what wi

be its population in 20257<}t

ferdt was &7 S sd afaad € qd 2023 8

84,000 71 W 2, 7 2 -o%‘nmaﬁrmww

+ 92,610
(A) 88,420 X 92,61
(C) 91,560 (D)~{ 93,600

T aaafta "
(F)  Question not attemptad /
KLM

=
95  Ana fmount of ¥ 23.500 is to be divided amonest JJ

:IU“. of income of P is equal 1o 10% ol Q‘*
income. 1f the income quI; is £ 2780, then what 15
the income of Q7 .

p Y 3773 #1200, Q F 3@ ¥ | 0% F TR A
P ML 2780 moﬁamam%ﬂ

(A} T 5680

By TR0

(Cy T 5460

i}

-~ T 5560
Sk 235

(E)  Question not attempted 373t w1

The new name of "lndir; Rasoi Yojana™. the food
security scheme in Rajasthan is:

Choose the most appropriate answer from the
options given below: ;

(A)  Mahatma Gandhi Rasoi Yojana

(B) Al Rasoi Yojana

(C)  Shree Annapuma Rasoi Yojana

(D) Rajasthan Rasoi Yojana

(E) Question not anempted

mﬁmmm g W T RGURICCINGD
T R

ﬁnﬁrﬁa—aﬁﬁﬁﬁmﬁammm
(A) W M WS Fray

(B) I WY grar

NG R = i gy

(D) TS W gy

®  ogfwws !

The ; s

Governmem  of ~Rajasthan

annow woed
reservation  for

wonwn' in
Institutions, The percentage of
Choose the mosr appropriate answer from the
Options given below:
nmmi’m‘q'mmqa WO N wfenary 3
_mmﬁ‘ﬁqmﬁilmwuﬁvﬁ%ﬁm
. I e

ﬁn%sf@aﬁwiiammmmﬁs:
(A) 25% oSBT 330

(C)  S0% Q)i 20%
(E)  Question not attesnpted 1 yafE wy

Panchavati Raj
reservation iy:
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U Themnal name of which of the following canals | 94 Krishna Poonia, a woman player from Rajasthan |
was Raasthan Cangl? belongs to which sports?
Choose the most appropriate answer from the Choose the most appropriate answer from the |
options given below: options given below:
(A} Hanumangarh Canal (A) Boxing (B) Badminton
llf] lndira Gandivi Canal (C) Cricket (D)  Discus throw
() Quuuon not at mqﬁm Wﬁwq&mw f:FIlU"‘
PR o .; giﬁud &uﬂﬁm%" |
TS TR R P P & & wrarffires 7uges 3 44
ﬁm%ﬁaaﬁm\ﬁﬁwwff&a;mmgﬁ (8 W L i
(A\) TR AR By s i e © Ffre D Fe=Fa
W) IR (D) maw Yt (B) 7RG A
() et wy @
o among the following sports persons, from
92 Where is Rajasthan geographically located in CU the state of Rajasthan, represented India at Paris
India? — Olympics in 2024?
(AY  North-West {B) South- East ¥== (A) Gajendra Singh
() South-West (D) North-East F‘:: (B) Maheshwari Chouhan
(£)  Question not attempted ¥== (C) Muskaan
e Mo 3fe & wra ¥ et R OO () Yashaswi Jniswal
‘_/(A'T IFT-gfyy (B) Eﬁ!‘ﬂ-‘[é .._q (E)  Question not attempted
(©) Rmafm (D) I A1 R e Rererfieat 3 & wroreerr e & forry
.  — . - —_—
(E)  vgafa = et ST 2024 B i1t w51 v b amy
| — (a) mwfi (B) wRwh e
93  Select the state which shares its border with the ‘E ©) A (D) Tt STaHATS
state of Rajasthan. 3 () aRaws
Choose the maost appropriate answer from the S
options given below: E Who among the following was appointed as the
(A)  Utiarakhand t Deputy Chief Minister of Rajasthan in December
(B) Chhattisgarh '-.J 1330
:;: g:;";:!:“l Pradesh (A)  Manoj Baghmer(®)  Diya Kumari
(E)  Question not attempted © SurrmlGodam (D) Jogaram Patel
EH Ty w i - T mm (E) Question not attempted -
TEmEm e 2023 3 w8 @ 35 T 1 3w .oy
Frerferfs e & warfiras Juge SO P o ,
(A) TGS (B) BETE : ('\) wam gy Rag
(©) fermasn oy e ) g (D) SRE S
(E)  mefws (E) SRt
KLM | 0 20 | Contd...
44
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97

98

KLM | &

The main problem in the agricultural growth in

Rajasthan is:

Choose the most appropriate answer from the

options given below:

(A)

(B)

(€

(D)

(E)  Question not attempted

e 3 e e et

(A) mﬁtﬁﬁam /\,,
ifafis =g

Limited availability of fertilizers
Erratic rainfall
Limited number of tractors for agriculture

Very small number of farmers

o

-(C) a?ﬁaafaq%ﬁﬁmiﬂwﬁmm . _1

(D) %mmzﬁrmmm
(E) i@ ws

Where is “National Research Centre on Camel’E

situated ? ™

Choose the most appropriate answer from the
options given below:
(A)  Udaipur
(B) Bikaner
(C)  Mount Abu
(D)  Jaisalmer
(E)  Question not atlempted
" I SR F7 e o feda @2
ﬁqﬁﬁ}a—ﬁwﬁ—ﬁ?ﬁaﬁa‘mmmﬁﬁ |
(A) ZEmag
Ly
(€) "= wm
(D) gei

Kul 1 ar‘al

Guru

woi

r—i

1

(E)

R wyg -

21

20

than nuc! : nti :
In Rajasthan nuclear porier pila; vlznt 38 located ar

Choose the most appropriate arswer from the
options given below:

(A) Tarapur

B)  Narora
(C) Dy Kalpakiam
()  Question not aitempted

THEATA & AT 5341 Gk 307t oy 3
e EET e —
(A) ’rn"’lij (By =%
ACF AR (D) FTrERT
(E) sl ga

Rawatbhata

Name the State Bird of Rajasthan.

0 Choose the most appropriate answer from the

v‘-[} options given below:

(A)
(B)
()

Sunbird

Dove

Great Indian Bustard
{D}  Peacock '

(E)  Question not attempted
TIEAH % U4 T&l T4 I3
Frefafes faeedi § @ vaifas ERCEELIE CE
(A) w=E

(B) wr@ar (39)

(D) W

(E) Sruiayy

Who built the* Taragarh fort’ in Bundi?
- Choose the most appropriate answer trom the

options given below:

(A) Rao Raja Bair Singh
(B)  Adinath Ji

(C) Mahargja Kumbha

(D)  Raja Aniruddh Singh
(E)  Question not atteimpted

<t g foven e s T
Pt fasmedl 3 @ gatfie I9g I T4

w7 T e e () anfeay s

(C) WERETERNT (D) o s e

(1) oraiE ve

| Contd...



102 Muteh Fastd witly 1ing-1.
Lint-1 (Persan) LIN-UE (Aren of Wark)
N Komal Kothayy Y, Singing
b, Shanan Singh : T Jourmalinm
¢ Jagiit Singh v AL Folk culire
Ao PU abarmal IV Bravery/Valour

Sharma b

ERIEE R CIRES uw{lﬁftrna )
T-1 (afi) TAR-11 e i
N RIME a)a . T
b, & e TEFT
E B o TWTHiﬁMTr,rq
Choose the most appropriate answer from the
Options given below: ':“!
ﬁﬁvﬂqﬁwﬁiﬁé’%ﬂf‘mmm?:
(A) a-1Vob-llc-1,d-111
(B) a-ILb-1c-¥ gy

103

T

a-:u,b-:v,é;:s.d-n
a-Lb-Nlc-lyd-1v

Question not attepted / STafa ug
"y

(D)
(E)

Who established a scéﬁéalled *Nishkalank' (holy

A o
and sinless)? j
Choose the most appropriate answer from the \A
options given below: »4 )
(A) SaintMavJi 1™ —
e L
(13) Ram Charan Ji" Pt
w4 -
(C)  Mabharshi Nqulrgm Ji
(ID)  Saint Rana Baij~ | |: : |
(E) Question not attetpted

T (afa =i aig '{fl"-ﬂ') T qIEE 6
wqren e 7 : $
S Pt et o ST

AT @4 g7 '«;""“
@) mwms
(©) e g oA
(D) HATNAE. (-

KLM| 4

GIM/ Vho served ay the Governor of B

S

Sy

qv)
r—-q

yal

22

ajasthan from
4y
2004 105 20077 l !

(A) Margarer /('l'm
(13)  Pratibha I';lij}

(C)  Vasant Dadal patil
(1)) Prabha Ha;j

(1)

- Question not attempted
"

2004 11 2007 TR TR F 5 6 A
- * :,. - ' {__\ o
*1 i.;;--l-?'gz— el
(A) Wﬂ??_:i
(B)  afrar mifzay
(D) D
‘r"jl.
(E)  wgafm ag
o

Who authored IE:-; book ‘Samta Darshan Aur
Vyavhar'? C‘l

v
Choose the Most-appropriate answer from the

oplions given below:
(A)  Acharya N‘:&csh Muni
(B) Acharya PEimod Muni
(C) Acharya \j,j;s‘:t‘xcsh Muni
(D) Acharya TUM;
Y
(E)  Question Nokattempted
Pt fredh o & mrfres g W
(A) 3 W:gﬁ
(B)  mrard gewf

() mhﬁﬁ,ﬁ
P s g

(F)  3FFf@E o)

| C ontd...

%\ oM

1
L}

A




06 A shopkeeper sold 1wo pens at the same

G price, ;09 ) A certain sum of money is deposited in @ bank,

One is sold - =
b ata profit of 10% and other atn loss which pays simple interest at the rate of 5% per
Q Fo. ¢ ' .
i \) . overall thl or IOSS Pcﬂ:ut“ﬂgc i‘i: annuim. In how many years Wi“ lhc sum Ofmoncy
* ° profit
(BY 2% doublc itsell?
< Yo loss
(€Y No profit, no loss (A) 15 ycars (B) 20 years
. Al L
(D) 1% loss (C) 25 ycars (D) 10 years
(E)  Question not attempted (E) Question not attempted -
T TERR D Faqw 53 e s v o & A s o) St 2, 1 5%
W a“ﬁﬂ%lqa;
mezo%mwa’ki’ﬂﬁloo/ugﬁthm%ﬁ g o wﬁaﬁﬁmﬁmmwmmaﬁq
| ' & st
F AN W hC'CP‘“'ﬁWEﬁ e
(A 1%anT ®) 2%af u‘{&} 15 a4 20 a4
© eIty 1 wwh EC) < @) 107 )
(E) sgaf@mws | el E) ST S
| S |
P L
l{_}]/ An article is sold at a loss of 13% . Then the ratio 11 ich of the following is not a biodegradable
of selling price to cost price is; | waste?
TFH T 15 % e g St st 1 A o e Choose the most appropriate answer from the
—— — opti i 5
: ptions given below:
T 3R Y e F I & —
; - ' - ‘ _‘(A) Jute bag
(A) 19:20 JBr T 17:20 \A
(C} 21:25 (D) 13:20 j'(ﬂ) Fibres of coconut
; ¢ (©) Polythene bag
(E) Question not attempted / a’ﬂﬂﬁﬂ'ﬂﬁ -
:(D} Banana peel
s o E .
@ Sushil borrowed ¥ 6000 from Shashi at simple 7 = (E)  Question not attempted
”' i S’ et 3 & F- P
interest. He repaid ¥ 9000 to Shashi after 4 years. : W W
’ . ?
The rate of interest charged by Shashi is:
LE Freferfam frapest & & warffives
RiCUC A eouoamnvranaqwﬁrﬂrmém o5, St L,
& ofar ﬁﬁﬂa L
a4 3 T8 mﬁrr FT9
R —"jﬂmﬂ ® TEREW -
@ s age £ —— | | A
. By 10% _ACY ifadia Qe (am
L 12.5% (B) . el bl
D) B.5% (D) & e |
(Cy 11.11% (D) »° . _;;
2 4 4 ﬂﬂﬂltﬂ :
(E)  Question not attempted / ST 23
KimM] & | _ [ Cona...

T e T i e
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11 Which 5 the following discases ar¢ (ransmitted
by nir'.’t\‘
Ty
% "Ey-?c"c“‘“!*fs b.  Influenza
c.  @fcer d.  Polio

112

ChooséYhe mosr appropriate answer from the
oplionséxf\'cn below:

(A) bandconly (D)
(C) ddhdd only (D) aandbonly

(1) @\:cqnon not attempted

ﬁq%ftﬁ ¥ & 9 aﬁh & dm ang awa et

¢ and d only

LaaR
a. gt@rﬁhﬁvmﬁrﬁm
b.

37.{{!'..

d.  Pfedr
ﬁ%ﬁ%@%ﬁrﬁﬁ&mﬁ%ﬁa@mmgﬁ:
F@bMCc (B) Fawcadd
(C) FaFa3Md DY FaTasity .

(E) w1

The prg'-q%ss of pastoralists losing their animals
and livelihood due to government policies and
modern development is known as:

Choose the most. appropriate answer {rom the

optionsgiven below:
(A) éeforcslation
(B) Dekertification
(C) %m;gi immigration
(D) Dhgtress dﬁﬂgisp!acemcnt
(E) Question not attempted
waTdt fifet st sy fawra & Fwor s
L an"#"qgan st Sfife @i A whra @
m? ‘P
Frferfiag frarei f & wratfiras Juge FoC:
(A) ﬁtﬂ\ﬂ?
(B)
(C) Fgrer Amyama
(E) a4
KLM | ’ ‘

23

113 Which of the following statements is not true
about Raikas of k?jasthan?
Choose the mnsi’jg:ppmpn’ate answer from the
options given bojoy:
(A)  Godwar ﬁéﬁkaq mainly rear sheep and
goat. C':’
(B) Dhandi is the settlement of Maru Raikas.
(C) Raikas areYtraditionally, associated with
pastor‘llts{ only as their profession.
(D) Maru Rm’[:%s are associated with camel
herding. (=}
% (E) Question gof attempted

00 o ¥ grand i § foafafas 4 & #9-a0
e Dl

aw’ Frafefas fwedt & & gaifée Iggw ST
= (A) TSR TTE TE: W3 R aEH grerd 2
vﬁ/g@mmﬁm%l

e © mﬁwémm%mﬁw
S
['_.. (D) %Wﬂa‘ﬂqﬁ v

(E) aﬁaﬁaw&"’

=

A14 /) On 23 SeptemPer 2024 in which area of
. Rajasthan the l?éinik School was formally
™" inaugurated by the,Raksha Mantri of India?

teeed Choose the mof? appropriate answer from the
e . : %
) options given bc'lo{v:

. ‘«w]
1 (A) Jaipur -y (B) Bikaner
(C)  Udaipur (D) Ajmer
(E)  Question not attempted

23%2024%#@%*%&:&%
mﬁ#ﬁm
Wmm%muﬂaxm

Fq"‘"'T‘lT" v~
mwﬁammmgﬁ
(A) w | (B) m
€ FmE () awk
() srwfa vy

an | Contd...
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|15 Which of the following article of the Indini
Caonstitution was amended significantly in the

vear 20197
Choose the most ,;ppr;ynirm' answer from the
options piven below:

(A) Article 360 b

|
(3)  Article 350 “\J
(C)  Article 360 N
(D) Article 370 =%
() Quulior‘l not altbmpled

rq%ﬁaaﬁmm?ﬁ &mff‘e)a;mwgﬁ
(A) =360
(B) awga}a 356, 1o
(C) STARTI66
B) FTRTIT0 v
T@® wmEtEvs

116 The New National Education Policy of the
Government of aniai:ﬁas changed the school
education pattern froti;im_ J0+2 to:

Choose the most apprapriate answer from the

options given below: & 4

mm%qﬂmﬁr&nﬁﬁfﬁ 10+2 fararerdt
e " H e R @)
Frfefaa faedt % 4§ gatfie sugw sa0 g1
(A) 5+4+3 W 543+3+4
(C)  6+3+3 i‘ﬂ_)) 8+34
(E})  Question not aéi{;%upaed st g4
i
N7 Where is Pushkar fdm orbambcd ?
(A)  Jodhpur (ii) Udaipur -
(C)  Ajmer (D) Bikaner
() Question not aupmpted
T w1 v dwt wran 82
W) sz Uiy saagei
) SAemT g ; (D) ehEEH
E)  sqafawy
Ml e & 28

24

Which ol the following is 0 popular folk dance

18

form ol Rajngthan?

(A)  Cihoomar (B)  Bhangra

(Cy  Yaukshagana (12 }:uggi‘

(L) Question not atternpted .

forest 31 & AT TSRS AR U e 27
py (B)  wingy T
(C) A& (D) 'frrg;

(1) iﬂjﬂftﬂ w4 il

%

119 Sclect the name of a desert which is located in the
state of Rajasthan.

Choose the most appropriate szigwcr from the

:I-qllions given below:

i’“*-w

(TA) Kalahari desert el
WJ Great Basin desert o
ﬁ) Cold desert o
{B) Thar desert \::I
m* Question not attempted

F w5 A S reEE R §

e

i
Tt faedt § & waifars Suge 3o
(A)  rmer W e
i1z e et ~
(C) weeficam N
- R R v
=) argaf wa =
—t
120 jia‘s biggest saline water ke located in
+ Rijasthan state is: iy

g @ !ilcmsc the mosr appropriate wywer trom the
wiaplions given below:
!.g%h w lake

m Kachor luke
Py ‘115‘ adea fake

2

()
Rajsimand huke (1N

() Question no attempted
wmaﬁimnhnﬁmﬁmvﬂmw TSRy O
V [ s
oty ____@__a? USRS
Fraferfaa faesedl § Tl Sogws 3
(A) T 8 GRUCTIR o
it vn ~“H) I:ml] snm
: S sfie () agyE site
() siafe gy N =
'S '
Oy | Coned...
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jated with f24/ Twey numbers are in the ratio of 50 1), 1 ther

io ; jvers is pssoc 5 _ o
131 Which of the following rivers H.C.F. i 7, then the larger of the two numbers is:
w1 et wy g 5 o 1 ¥z gra

werAE 7 B, M 2 At 4 g vieg .

i ; "

inland drainage system of Rajasthan’ |
_— n the

Choose the most appropriate answer frol

options given below:

: (A) 55
(A} Chambal - (B)  Kanth _ . ?:}
(C) Banas (D) Sabarmati wAN gL
(C) 60
(E)  Question not attempled b
Frfafen & @ @ o 74 o £ o4 st o 1 ‘
ITqaTK 4% @ Wt o (E)  Quéstion not attempled / aqAta 14
" m < . : . H .t e
3q 3 -‘F‘ 125  “[awa Mahal" gituated in Jaipur (Pink city) was
A 1 FIAeA! ) o
) ( — designed by which architect?
() = (D) wwat,

Choose the most appropriate answer from the

(E) 3ef@un

-

options given below:

(A) Sawai Jai Singh
(B) Lal Chand Ustad
(C) Ustad Hawa Singh

122 Which is the originating place of Luni River in
Rajasthan state?

attagar

ik

Choose the mast apprapriate answer from the

' {D) Sawai Pratap Singh
options given below: EE (E)  Question not attempted
(A)  Naga hills of Ajmer S (et Al § Ry gar weer fra I
=] e
(B) Rupa! Glacier P 710 faeme famar mar o
(C) Minda mountains of Vindhyachal —— ﬁnﬁﬁaﬁmﬁﬁ mmmgﬁz
(D) Chaurasi Garh D () vt SBY T 92 3R
(E)  Question not attempted w4 (C) =R earfiw (D) ﬂa‘rg g far
Ly :
@mﬂmmm%ﬁﬁamﬁgm-j (E) :qaafmgg
& 1 |
e
ﬁﬂﬁﬁf{ﬁ:ﬁﬁﬂmmmﬁif 7126 ‘Folk songs are the language of people, they are
&) TEECE A qpr - the custodians of our culture’,
(B) ®vd femrz ‘ | . l] Who made the above statements?
(€) fioma & fitm o (A)  Mahatma Gandhi
(D) fimg

(B)  Sardur Patel

(F) Hﬂﬂﬁ'dw (©)

Jawahar Ly Nehry
‘ (D) Rabindrg Nath Tagore
123._' The LCM. of -2. %‘- and -g- iN: () Question not attempred
£ 8 ot 1 o e vk ) qﬁi"‘.."_"m“‘"‘"‘@mé‘WW*W@'
s 3 '
. o T??T ) mdﬁmat%mﬂnﬁﬁ
= l (A) vETem wivfy (B) wEnwRd
10 ) 210 SO AT e v y el e Ak
(E) " Question not altempted / 3rgafa ay () sverie way A

[ Contd...
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127 The famous Agni dance ol Jaspnathi Cull 129  Which fuir is the largest animal fair in Rajasthan”
- 4 .
Rajasthan? ' Choose the mostcippropriate answer from the

Choose the mast “p}}?ﬂrpriarc answer from the options given hclip\':v:
(A)  Pushkuar Cgrigel Fair

originated from which place in

: : (S
options given bclow:rs.~

(A)  Barmer ,‘:r«l (13)  Veer 'l‘cju_i(iﬁnimu! Fair

(B)  Jaipur :“:; (C)  Animal l-‘n%;;‘l(nruuli

() Bundi vl (D)  Donkey lafr/Rajasthan

(D) Bikaner = (IF)  Question not attempted

() Question not attempted TAEATT T M HeTT - %7
mwﬁ___w%magﬁimﬁamﬁwwm% ﬁm%@_?ﬁﬂm%'zﬁrqﬁ
FAEHaEE? - oy (W) 25T, SO0

(A)  wTEH N CIJ(C) gy AT, magw
(

N

(B) YT " D) T A, TEEAT

() == o (B) srafa gy

(DY~ TR <

(E) B?egﬁftﬁﬁsr ~ When carbon djoxide gas is passed into lime
T waler, it turns i‘hggimc water milky. This shows
24 the process of: %)

128 For which folk dramawi& Rajasthan the stage is set

in an open colony orﬁ’éourtyard of the market? Choose the mmgppmpﬁam answer from the

options given below:

Choose the most ag@aprmte answer from the
(A) Physical chahge

options given below:

Gur‘ukul Tarana

: sy \
{A) Bhaw B Condensa
| avai P (B) jian
(B) Jagore [~ (C) Crystall izatibn
(C) Rammat E:; (D) Chemical E{smgc
(D) Jatra o (E)  Question nof attempted

Wmmaﬁﬁﬁzm@@%wrﬁqwm

T & o ST @ A e wer E‘J_w‘m%rmr% Y < el gfiean o € st &

awiﬁmﬁﬁmmé? mufiﬁma%uaiﬂgwm%-
ﬁmﬁ?f%aﬁm?ﬁ@:mﬁ‘wwngﬁt’g% Tr=ifefare frerai-ii & waffirss 39gw 39T 4

(A)  ward [ (A) \ﬁfﬁzﬁqhﬁa

(£} Question not :i‘:f:{:émpicd

(B) =i - () "WEE oy
~ e 2y fereechiantur)

LT Ty 4 | J) e
(D) 7y C‘*«i () varufe gigad

() srERa s

(£)  sryafa wa ("”3
Klm) o 27
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131 Galvanization is a process in which iron objects
are coated with to protect them from

rusting.

Choose the mosr appropriate answer from the

options given below:

(A)  Zinc (B) Brass

(C)  Gold (D)  Silver

(E)  Question not attempted

il R R ——

eI fam e & R wat s ey
aa'ammu%:a

ﬁﬁ%ﬁqaﬁﬁaﬂﬁﬁﬁﬁﬁmaﬂmwgi
S (B) et

(©) wvf (D) wi&H

(E)  rufawy

@ A magician plays a trick and adds a colourless
solution to a glass of ammonium hydroxide
solution and astonishes everyone with white

fumes of ammonium chloride. The added solution
was:

Choose the most appropriate answer from the

options given below:

(A)  Sodium Hydroxide

(B)  Hydrochloric Acid

(C) Nitric Acid

(D) Sodium Chloride

(E)  Question not attempted

U ST S1g femmar & i s I BITSTaTes
a7 frere i s o Ferera frema 8 e
it TS % w du @ e ar
e faema e
L e —
(A) wifean erggiaaee

(B)  wTsgimeilt st

€) amfwmam

= bt

133 Which of the following metal is found in liquid
state at room temperature?

Choosc the most appropriate answer from the!
options given below:

(A) Magnesium (B)
(C) Mercury (D) Sodium

Aluminium

(E)  Question not attempted

Fraferfiaa # 4 2 o sy #et % A o za

_rerea 3 oré et 2

Frrffian et § & maffire suges 3w
St (A) BT (B) vefufam

) Wl (mz) (D) wifsam
Sl septaws
!

182 Match List-1 with List-II,

(70 List-I(Element)  List-II (Colour)

¥={a  Sulphur L  Pink
% o SHE L Yellow
§ e Phosphorous 111

Green — Yellow

‘— d. Oxygen IV.  Colourless
_;. qﬁh-r%m;@.nmﬁmqﬁ,
7 T e w1 )
— o
d b TR
o BERE——— 111 T

er from the
oplions given below:

‘ﬂ“fﬂ!ﬂ‘{ﬁmﬁﬁmmmgﬁ
(A) a-1v,b-m,¢. d-1

(B) a-Lb-W, - d-11
€ a-NLb-1Le-1V,d-1

yu)( w-llb-lle- a1y

(D) #Aifga Feiee
(E)  srafe gy
KLM| ¢

(E)  Question not attempted / 31TaRw Wiy
28 ‘| Contd...
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195 Whilh o -
( ; hof the fol[owmg is the correct formula for

number of ;
of images formed for an objeet plageq
betwee i i
0 IWo plane mirrors inclined at g certain
angle?

Choos - ]
¢ the moyy appropriate answer from the
oplions given belgyy:

Numbers of image (N) =

( ; 180
angle between the mirrors

(A)

)

Numbers of image (N) =
( 90

angle between the mirrors
Numbers of image (N)=

( 180

angle between the mirrors

Numbers of image (N) =
{ 360

angie between the mirrors
(E)  Question not attempted
foreft Forar ah1oT W 37Tl 21 WA qquit & e TElt

T e

e 5 T el il o s & forg Freafera

AR S

J+1

(C)

)+i
)1

(D)

G;HJ which of the following statement is not correct
R ﬁ' . . i -
about reproductionin camels?

Choose the most appropriate answer from the

oplions given hcluw..
For reproduction, camel should not he

(A)
older than 20-22 years,
13) In winter male camels are given more
nutritious food.
(C) The gestation period in camel is gencrally
380-400 days.
(D) For reproduction, camel should not be
. younger than 5-6 ycars.
1'F‘—'(E) Question not attempted

e 1 @ e & 97 %

ik b ]
) '

Feait & raffres swges s g
7 3 for, 32 4 917 20-22 7 & i
et e iy ]

T T et o 3 G v feam e
2

2 ¥ miwE &t amE: 380-400
fA e 2

A F o, S i o1y 5.6 7 & 7
=t =Ry

HTafd vy

Al the difference in the compound interest and

j:mple interest on a certain given sum for 3 years
o :
oAt 10% per annum 15T 1,674, then the sum (in )

el T2 Tfiy o7

pr—
38
—
a2
[ ?D)

—
penf)

13

m%sri%rmﬁa;ewnaém

r ST 3R |y i
jm all S A AT T | 674
TR AR (o 1) 2. T
ng]/ ;4.000 (B) 53250
2,500 :
T (D) 54,600

I the e perce
Mimber of
. :{‘}:t—: ol years, then e percentage iy -
a{?ﬂ“%"m SN R 2450 1 AR sy .
w"“;h 4 m%wa,ﬁmaﬁma
© o W s -

stonasumor'y 00052 2430 ;

nage of inerest is cqual o (he

“‘) . (l)) 6%
2 Question not altempted / 31 gy
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<7 Asumof T1850 is 1o be divided among A, B and

A'ssharc _ B'sshare _ 3
C such that - B'ssharc ~ C's sharc 4

Then A’s share 1§ -

T 1850 # A,Ii:sﬁ'(cﬁmm%\lﬁﬂ%m

L 1

— Ammh[%mm:._
BHEwm, Cawm 4

?ﬁAaﬂ'ﬁ'ﬂﬂ% v 4

(A) 520 (B) T450

(C)  T600 (DY T500

®) " Question not attempted / Sl v

& 81 i (D) 25
(E)  Question hot attempted / SRR way

§ Yi{ The total numbet of medals won by

§#.2 .k options given below:
_ India in F“j (A) Golden  (B) Bjaek
Paralympic 2024 at Paris is; ©) Vioict[\ ®)  Whit
2 ; ; [\ ite
2024??&_3@&?%@;%%%%@! CU (E)  Questipninot attempted
FATEIE: o5 E_‘ méwﬁmm%ﬁjgwmﬁ:mhma&am
(A) 29 vt (B) 30 mw— S o e s I
© 31 ™) 28 g - FresfeRe Rt & wrffr s vy o,
(E)  Question not attcmpted/ai'gaﬁaw ot (A) ' (B) m“ : B
i-“ ' _E (C) it =g X0 T (¥
142 Select the name-of 1 and- only woman Chief ) () sgRiRs
Minister of Rajasthan from the following: 4 ™~

(A)  Smt. Shila Dixit
(B) Smt Susﬁrﬁa Swaraj

143 The present govemnor of Rajasthan is: (As on 01
September 2024)
(A)  Shri Kalyan Singh
(B)  Shri Hdribhau Kishanrao Bagde
(C)  Shri Bajan Lal Sharma
(D)  Shri Kﬂj Mishra
' d
(E)  Questign pot attempte
mm%a&uﬁmmﬁmmzom F1) H
W%: O
(A) ft weam fig
By e e A
(C)  ft vt waf
(D) i Ferq fiysm
(E) mgaﬁwczw

Q
@ Which of theCfgllowing flower colour expresses

as dominant trait in garden pea plant?
i | Choose the

i

Ardst appropriate answer from the

Which of tharfdllowing branch of
with principléebf inheritance?

Ud

Biology deals

r Choose the msf appropriate answer from the ’
(C) Smt. Suc{xg*éa Kriplani options given below:
(D) Smt. Vasundhara Raje ' (A) Ecolo (B) Embryology
(E)  Question not attempted (C) Cytology (D)} Genetics
ﬁﬁqﬁiﬁﬁ‘i#ﬁmﬁm 3R g _ (B) Questjop not attempted
A gt d am i, T el R e PR TRy
(A) ot afte A 3 Pt & v
(B) ot g e ""“" + Freafeefen e o & wartfres v s
© ftgdaigeern (A) B yfRww
) ey 1y (©) PRI Py e
) Srafer yr (B) orgiaws
KLM | 3
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1 O

.casion of Teej festival in Rajasthan,
2y individual (organism) | 149 On the occast
¢ 146 Extemal appearance of an individus

. o
T iscalled as: women mostly Wed
v Choose the most appropriate answer from the Choose the most appropriafe answer from the
options given below: ) ‘ven below:
(A)  Genotype options give ki Odhni
(B)  Phenotype _ (A) Lahariya Bhant ki
(C)  Homozygous (B) Lahariya Turban
(D)  Dominant character : .
(E}  Question not attemipted (C) Pink Pomcha
f%sﬁsﬁammarmmmm%; . h
= (D) Blue Pomcha
ﬁn%féaﬁmaﬁﬁﬁwafw:mﬁi: ~ ' w
(A)  Shavey (‘GﬁTﬁETW) ke - (E) Question not attempte:
®B) TR (Eritergy, TS H Wit o N 3 ST e axfiya
€)  wmgms ' ‘ §
(D) et sy E: e & b
(E)  rqefe way h“}}ﬁq%mmqﬁwmﬁwwmgﬁz
147

| o et it 4 st ¥
That poetic text where the description of glory, Cj;@ o

wars and valour of g King given is: - (B) ﬁ),o
Choose the mosy 4ppropriate answer from the | et © WW
options given below: FI:I' (D) ﬂmm\ﬁ
(A)  Vigai (B) Raso B b r
(C)  Rupak D) Vel C ® e
(E)  Question not attempted E_'
?Wmm_?%:mmﬁqa,-ﬂzaﬂtﬁlsﬂ On which festival in Shekhawati region of
SR 1 =708 fereren &, g = R
e Ny Jasthan ¢ il a ci T
xS . :-mt?@-}; : e © men dance in a circle playing a
(A}, e BTy ] E musical instrumen called chang?
€ =% D) Tk g Choose the mggy ;
appropriate answer from the
E) af@uy - :
(E) < S OPlONS giyan below:
. e
148 Kuchamani Khyal was starteq by which famous - (A) Holi (B) Teej
folk dramatist? (1™ " Difva;
olk dramatis ‘ w, (©) Diwalj (D) Marriages
Choose the most appropriate answer from the (E) .
options given below: Question fot attempted
(A) LachhiRam  (B) Nany g TR % Sy &0 % e e e e Wi
(©) RajaRam (D) Lajg Ran O S ) e & v A
(E)  Question not attempted _ﬂ_& ¥ h 'ﬁ:r{_ﬂH e, TRAEE
)
Tt s S a5 v, e e .
hwv .............. —— »
i s LA TS PP
Frafefiea faamet Wwwmm@, AT e @
AT Tt (g TH TR (© - )
© ™m0 ey ) feareh (D) ferams

(E)  swmfe s ®  srwfer v
KLM| ¢
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